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Organisms classified using a dichotomous key are based on

A. physical characteristics.
B. geographic area.

C. behaviors.

D. genes.

The dichotomous key classifies types of insects, and the picture shows an unknown insect.

insects
%
Complete % Incomplete
metamorphosis i matamorphosisfother

Two pairs O pair Two pairs

of wings of wings of wings No wings
G!zryém‘ﬁfa Musca Romales Lepisma
rhipheus domestica gultata

saccharing

T Soums: Public Demgin
Using the dichotomous key, which type of insect is pictured?
Musca domestica

Chrysiridia rhipheus

Romalea gudtata

gnwr

L episma saccharina
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A
reproduce asexually.
B.
reproduce asexually.
C.
{o consume other arganisms in the food chain for sustenance.
D.
their own focd from inorganic sources such as carbon dioxide.
[Huminate ltembank™
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Soo Hwan found a flowering plant at school and used a classification key to help him classify the plant. The

flowers of the plant are not clustered, and they have a deep brown center.

Flowering plant
Single flowers - Clustered flowers

: Are there visible
Muttiple Dark sead pods?
bushy center P -
stamen i Yes Mo

ﬁ Black-ayed ' l 1
Hildseus  Susan Sikweed Goldenrod

\hat type of plant did Soo Hwan find?
hibiscus
black-eyed Susan

‘sitkweed

goldenrod

A student wants to develop a model that categorizes various plants and animals as either heterotrophs or
autotrophs. Which statement provides the BEST criteria for distinguishing which category the various

organisms should be placed in within the model?

Autotrophs are multicellular organisms that reproduce sexually; heterotrophs are unicellular organisms that

Heterotrophs are multicellular organisms that reproduce sexually; autotrophs are unicellutar organisms that

Heterotrophs can produce their own food from inorganic sources such as carbon dioxide; autotrophs need

Heterotrophs need to consume other organisms in the food chain for sustenance; autoirophs can produce

Generated On December 7, 2019, 4:15 PM PST

Continue: Turn to the next page.
Page2




Directions: The dichotomous key below classifies types of repiiles. Use the dichotomous key to answer any
questions that follow. '

?%—eﬁﬁies-

Legs i No legs

- Mo
Expandable | expandable
Shell . No shetl hood hood

Lives on Lives in b
fand water Cobra

targe & | Small &
thicksize | ihinsize

Galapagos G:ré&ﬁ

giant fortoise turfle
Does not Anaconda Garler
Changes skin change skin shake
solor color

European Nite
chameleon crocodie
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Solange found a bird that felt out of its nest. She used a dichotomous key to help her decide what type of

foed it eats. She concluded that the bird she found eats grub worms.

Does the bird have...
k)

Webbed feet

éﬁi Y ““*«*&f[;)

TN A ]

%\;;}mwé 5 &ﬁ i

Throat Short, %6 Short,
pouch  round beak gamied ak pamted beak
Eals Eals Eals Eals
fish grass gridy worms SEeds

What information about the bird led her to this conclusion?
The bird has talons and a short, pointed beak.

The bird has webbed feet and a throat pouch.

The bird has webbed feet and a short, round beak.

The bird has talons and a long, pointed beak.

The picture below shows a type of reptile.

J 0w

Sowrns: Puldin Domain

Using the dichotomous key, which type of reptile is pictured?
European chameleon
green turtle
Galapagos giant tortoise
cobra



Classification of Living Things

Taxonomy is the practice of classifying and naming living things into categories or groups based on simifar
characteristics. in 1758, biologist Carl Linnaeus created a system for classification that was used for hundreds of
years. He gave each species two names (for example, Homo sapiens), showing their genus and species. He then
grouped each genus into families, then orders, then classes, then phyla, and finally into two kingdoms: planis and
animals. Linnaeus based kingdom classification on whether the organism moved or not. This system changed
very little until the 1960's, when scienfist R.H. Whittaker proposed a six Kingdom classification system where
living things were grouped as plants, animals, fungi, protists, or monera (eubacteria and archeobacteria).

Classification in the 1700's was mostly based on what organisms looked like. With the invention of the
microscope, scientists began to observe characteristics that ultimately led to changes in the way organisms
were classified. Which characteristic changed based on this discovery?

A. the number of cells found in the organism
B. the route an organism uses to obtain energy
. the method an organism uses to move

D. the way an organism reproduces

Grace is creating a dichotomoeus key for her science class. The table shows the list of steps Grace took
when creating her dichotomous key.

first step § research characteristics of mullipie species

second step | narrow down relationships based on characteristics of species

third step  { end with a single species

fourth step { inform teacher that the key would never change

What did Grace do incorrectly?

Grace should not have ended her dichotomous key with a single species.

Grace should not have researched the information in the dichotomoiss key.

Grace should not have assumed her dichotomous key would never change.

Grace should not have narrowed down relationships based on characteristics of species.

vowp
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Into which kingdom are mushrooms, yeast, and the causal agent of athlete’s feet found?

Monera
Fungi

9]

A. Protista
B

C

D. Plantae

101 Which of the following contains a nucleus?

A. prokaryotes
B. bacteria

C. eukaryotes
D. organelles

11| The model shows a simple animal cell.
cell memivane s

lysusome

Which statement correctly describes how an organelle contributes to the ability of the cell to perform life
functions?

The cytoplasm stores the genetic instructions for the cell.
The mitochondrion responds to chemical messages in the cell.
The lysosomes digest food and break down ceil parts when they die.

caowpy

The cell membrane prevents all harmful substances from entering the cell.

Huminate ltembank™ Continve: Turn to the next page.
Generated On December 7, 2019, 4:15 PM PST Page 8




12| The model shows a plant cell.

celf -
tnambrane

pucheus

cell walt —%.

eytoplasm

Which statement correctly describes a function of the organelles in this model?

A. The mitochondria and chloroplasts are sources of energy for the cell.
B. The cytoplasm and the cell membrane deliver nutrients around the cell.
C. The mitochondria and the cell wall sort and package proteins for the cell.
D. The chloroplasts and cytoplasm send and receive messages around the celfl.
1luminate Iternbank™ Continue: Turn to the next page.
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Cell Organelles

Organelies within a cell work together to maintain homeostasis. The mode! shows an animal cell with the nucleus,

cytoplasm, and a mitochondrion labelled.

Nucleus

Cyloplasm

13| Which BEST describes the role of mitochondria in maintaining homeostasis for the cell?

A. Mitochondria control what crosses into and out of the cell.
B. Mitochondria manufacture and deliver proteins for the cell.
C. Mitochondria aid in the movement of organelles around the cell.
D. Mitochondria produce most of the energy that is used by the celi.
14| How does the nucleus contribute to maintaining homeostasis for the cell?
A. The nucleus stores water and food for the cell.
B. The nucleus directs cellular activities for the cell.
C. The nucleus produces chemical energy for the cell.
D. The nucleus packages and soris profeins for the cell.
Itluminate Hembank™ Continue: Turn to the next page.
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15| A student wants to develop a modet of an organism’s celt that lacks chloroplasts. Which statement BEST

explains how the lack of chloroplasts affects an organism?

A. An organism's cells would not be able to be clear of debris since the chioroplasts contain digestive
enzymes. : :

B. An organism that lacks chloroplasts would not be able to convert sunlight into chemical energy through
photosynthesis. '

C. Anorganism's cells would not be able to reproduce since the chloroplasts contain the genetic material.
D. An organism that lacks chioroplasts would not be able to manufacture all the protein required by its cells.

16| The diagram represents levels of organization in living things.

Organionm

Qrgan system

Which term would best represent X?

A. membrane
B. chloroplast
C. fissue

D. organelle

171 The tissues of vascular plants are organized into more complex structures that carry out a variety of

functions in the plant. What structure is formed by a group of tissues that work together to carry out a
specific function?

A, cell
B. organsystem
C. organism
D. organ
[luminate ltembank™ Continue: Turn to the next page.
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18| The smallest unit of life is described as a
A, virus.

B. nucleus.

C. organelle.

D. cell

table.

cells the materials that are used to build the walls
-tiésues the walls that form the rooms |

organs the rooms that are inside the house

organ systems | X

organism the house

Which comparison best fits in Harriet's table in place of X7

vow

the roof that protects the entire house
the hallways that connect the rooms
the doors that lead to the rooms

the carpet that covers the floors

191 Haniet is learning about the tevels of organization in multi-celled organisms. Harriet describes what she is
' learning to her mother by comparing parts of their house to levels of organization. She creates the following

201 The digestive system inciudes groups of tissues that absorb nutrients from food that has already been

an organ
an organ system
an organelle

onwp

an individual organism

Iilminate ltembank™

broken down, What is the best way to classify this group of fissues?
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21 The table shows the organ systems and their function.

Skeletal protects internal organs and assists in locomotion

Reproductive { responsible for the production of offspring

Respiratory | removes carbon dioxide white supplying the blood with oxygen

secretes hormones into the blood that control growth, metabolism, and stress

Endocrine
response
. . obtains nutrients for the body by breaking down food, absorbing water, and
Digestive L
eliminating waste
Excretory maintains water and chemical balance by eliminating waste producis

Accordihg to the chart, if Holiy complained to her mother that her stomach hurt and she could not breathe,
which organ systems are most likely being affectec™?

skeletal and respiratory
reproductive and excretory
digestive and respiratory

Jowp

endocrine and skeletal

22 Which two systems interact most to supply the body with nutrients?

The endocrine system produces hormones that regulate hunger, and the muscular system assists the body
in moving food into the stomach.

The digestive system breaks down the food to make it available for absorption, and the circulatory system
transports the nutrients to parts of the body. ‘

The nervous system stimulates the appetite, and the excretory system removes waste that was not
absorbed by the body.

The skeletal system absorbs all the nutrients needed for the body, and the integumentary system removes
excess liquid from food.

S o w »

23| The major systems of the human body interact with each other to maintain homeostasis. Which statement

best describes how the circulatory and immune systems work together?

The circulatory system influences the body's metabolism, and the immune system destroys it.

The circulatory system returns oxygen-poor blood back to the lungs, where the immune system adds
oxygen-rich blood.

The immune system fights infections and the circulatory system transports white blood cells in the blood.

The immune system produces voluntary responses in the body, while the circulatory system produces red
blood cells to fight infections,

go Wy
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waste to maintain homeostasis. Select the fwo systems involved in this process.
respiratory
digestive
skeletal
excretory
immune

SRR NN

integumentary

Which system works in conjunction with the digestive system to move food through the digestive tract?

o
wn

respiratory system
skeletal system
infegumentary system

oowp

muscular system

After entering the hody, food is transformed by enzymes into nutrients. Anything remaining is released as

Hluminate ltembank™ Stop: You have finished the assessment.
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